Ha uncnoBoW NMpsMOM A3Hbl AB3 oTpe3Ka: P = [130; 171] v Q = [150; 185]. YKaXWTe HaMMEHbLUYK BOZMOXHYHK ANUHY
Takoro oTpezka A, yto dopmyna

(xeP)—=(((xeQ)Ar-(xeA)) — =(xeP))

MCTUHHE Npu NHOOM ZHaYEHUWU NEPEMEHHON X, T.8. NPUHMMAET 3HayeHne 1 npu NboM ZHaUEHUKU NEepeMeHHON X.

OteeT: 21

max = 1000
maxl = 0
max2 = 0

for al in range (4, 200):
for a2 in range (al, 200):
f =20
for x in range (1, 1000):
if ((130 <= x <= 171) <= (((150 <= x <= 185) and int (not (al <= x <= a2))) <= int (not (130 <= x <= 171)))) \

= 1:
f =1
break
if £ ==
if a2 - al < max_:
max = az - al
maxl = al
maxz2 = a2

print (max , maxl, max2)
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